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ANSWER -1

Ramesh Sharma is facing declining sales on account of large scale shift of customers to online
stores. While he is using the tools of strategic management, they cannot counter all hindrances
and always achieve success. There are limitations attached to strategic management asfollows:

¢ Environment under which strategies are made is highly complex and turbulent.
Entry of online stores, a new kind of competitor brought a different dimension to
selling consumer durables. Online stores with their size power could control the
market and offer stiff competition to traditional stores.

Another limitation of strategic management is that it is difficult to predict how
things will shape-up in future. Ramesh Sharma, although managing strategically
failed to see how online stores will impact the sales.

Although, strategic management is a time-consuming process, he should continue
to manage strategically. The challenging times require more efforts on his part.

Strategic management is costly. Ramesh Sharma may consider engaging experts to
find out preferences of the customers and attune his strategies to better serve
them in a customized manner. Such customized offerings may be difficult to match
by the online stores.

The stores owned by Ramesh Sharma are much smaller than online stores. It is very
difficult for him to visualize how online stores will be moving strategically.
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ANSWER -2

ANSWER -A

According to C.K. Prahalad and Gary Hamel, major core competencies are identified in three
areas - competitor differentiation, customer value, and application to other markets.

Competitor differentiation: The company can consider having a core competence if the
competence is unique and it is difficult for competitors to imitate. This can provide a
company an edge compared to competitors. It allows the company to provide better
products or services to market with no fear that competitors can copy it.

Customer value: When purchasing a product or service it has to deliver a fundamental
benefit for the end customer in order to be a core competence. It will include all the skills
needed to provide fundamental benefits. The service or the product has to have real
impact on the customer as the reason to choose to purchase them. If customer has chosen
the company without this impact, then competence is not a core competence.

Application of competencies to other markets: Core competence must be applicable to
the whole organization; it cannot be only one particular skill or specified area of expertise.
Therefore, although some special capability would be essential or crucial for the success of
business activity, it will not be considered as core competence, if it is not fundamental from
the whole organization’s point of view. Thus, a core competence is a unique set of skills
and expertise, which will be used through out the organization to open up potential markets
to be exploited.
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ANSWER -B

Strategy is partly proactive and partly reactive. In proactive strategy, organizations will
analyze possible environmental scenarios and create strategic framework after proper planning
and set procedures and work on these strategies in a predetermined manner. However, in
reality no company can forecast both internal and external environment exactly. Everything
cannot be planned in advance. It is not possible to anticipate moves of rival firms, consumer
behaviour, evolving technologies and so on.

There can be significant deviations between what was visualized and what actually happens.
Strategies need to be attuned or modified in the light of possible environmental changes.
There can be significant or major strategic changes when the environment demands.
Reactive strategy is triggered by the changes in the environment and provides ways and means
to cope with the negative factors or take advantage of emerging opportunities.
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